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== A @iey @ Ee & Hzd

SEAE 63,200 11,180 74,380 224 49~
OFH 74 20,400 20,400 2214 79~
SI=SAHFE 16,730 16,730 22'4 58~
IS S/ ISHE 11,200 11,200 22 6%~
e 11,200 11,200 224 6~
Ch7 | A Z 7,940 7,940 224 49~

Ll 130,670 11,180 141,850
=M S 31,200 31,200 2214 52~
OFL 4,200 4,200 22 7~
opzlgoeas 3,560 3,560 224 6~

I

ChoIYAE 1,760 1,760 224 78~
SHME 540 540 224 59~

Ll 40,720 540 41,260
YGEZE 53,600 11,200 64,800 224 59~
SYAE 4,800 37,480 42,280 224 19~
Ch7 | A Z 26,200 15,200 41,400 214 129~
3t 40,980 40,980 21 1€~
SONE 36,800 36,800 22 62~

SRR

SHESARE 26,200 26,200 22 1€~
dsthE 24,800 24,800 22 78~
otzgo=Az| 5,360 5,360 22 59~
SHHEE 800 800 214 129~

Ll 151,560 131,860 283,420
SONE 15,200 15,200 22 62~

AOIE=S/0
A 15,200 0 15,200
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